
201611303

2.005, 3.110  4.485

(a) What is meant by sensitiveness of bubble tube?

      How would you determine it in  the field?

(b) Explain fully the process of reciprocal levelling.

horizontal angle by a theodolite with reading 

table detail.

OR

11.

6
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Time : 3Hrs. Sem. III - Ag. Engg.

Surveying & Levelling

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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(a) What is closing error in a  traverse? Describe 

      how such an error is adjusted graphically.

(b) What are the precautions to be taken in a 

       compass survey?

The following consecutive readings were taken with

a level and 5m leveling staff as a continuously 

sloping ground common interval of 20 meter. The

reduced level of the first point was 85.405 m.

Calculate the reduced levels of the points. Apply 

the usual check : 0.385, 1.030,1.925, 2.825, 3.730, 

4.685, 0.625, 2.005, 3.110 and 4.485m

10.

6
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The survey used for unearthing relics of 

antiquity is called:

(a) Geological survey

(b) Mine survey

(c) Archaeological survey

(d) None of these

The number of links in Gunter's chain is :

(a) 100

(b) 66

(c) 33

(d) None of these
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open traverse with compass  at a place, where local 

attraction was suspected:

9.

AB BC CD DE

0
44 40'

096 20' 0
30 40' 0320 12'

0225 20' 0274 18' 0212  2' 0140 12'

6

NT3004 3 1611303

P.T.O

(iii)

(iii)

(iv)

(ii)

A pond is an obstacle to:

(a) Ranging

(b) Chaining

(c) Both(a) and (b)

(d) None of these

The principle of chain survey is to divided 

the area into a number of connected

(a)  Triangles

(b)  Squares

(c)  Rectangles

(d)  Circles

NT3004

Find the corrected bearing of lines.

AB BC CD DE

0
44 40'

096 20' 0
30 40' 0320 12'

0225 20' 0274 18' 0212  2' 0140 12'

Line

F. B.
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(a) Explain different sources of error in chain 

      surveying.

(b) Differentiate between base line and check line.

Define well conditional triangle. Explain indirect

ranging in detail.

under a pull of 150N in three equal spans of 10 m

each. Take weight of 1 cubic cm of steel =0.078N

and area of cross -section of  tape =0.08sq.cm.

8.

6
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(v)

(v)

(vi)

(iv)

0
The whole circle bearing of a line is 260. Its
quadrantal bearing will be: 

0
(a) N 100 W

0
(b) W 80 N

0
(c) E 100 N

0
(d) S 80 W

The total number of zeroes graduated on a
surveyor's compass is:
(a) Four
(b) Two
(c) One
(d) Three

NT3004
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In prismatic compass, graduations are 
engraved.........
(a) Erect
(b) Inverted
(c) Both (a) and (b)
(d) None of these

In Plane table survey, plotting of inaccessible
points can be done by:
(a) Radiation method
(b) Traversing method
(c) Intersection method
(d) None of these

(vii)

(vii)

(viii)

(vi)

NT300416 NT30041611303

Answer all Five Questions. 
6 x 5 = 30

Mention the uses of surveying. A 20m chain was

found to be 10 cm too long after chaining a 

distance of 1400m. It was found to 18 cm too long

at the end of days work after chaining a total 

distance of 3000 m. Find the true distance, if the 

chain was correct before commencement of the 

work.

7.

6
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The accurate centering of plane table is done
with the help of ..............
(a) Spirit level
(b) Alidade
(c) Trough compass
(d) Plumbing fork

The technique of plotting all the accessible
stations with a single set-up of plane table is
called:
(a) Radiation
(b) Intersection
(c) Resection
(d) Traversing 

(ix)

(ix)

(x)

(viii)
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area by field measurements.

axes of a theodolite.

OR

6.

4

OR
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Which of the following sight in leveling is 
also known as minus sight?
(a) Back sight
(b) Fore sight
(c) Both (a ) and (b)
(d) None of these

The combined  correction due to refraaction
and earth's curvature is:
(a) Zero
(b) Additive
(c) Subtractive
(d) None of these

(xi)

(xi)

(xii)

(x)

NT3004141611303

Compare between prismatic compass and 

surveyor's compass.

surveying.

U

fall method of computation of levels.

main survey station in the field?

4.

OR

OR

4

4

5.

NT3004



8 1611303

The  rise and fall method of levelling provides

a complete check on:

(a) Back sight

(b) Fore sight

(c) Intermediate sight

(d) All of the above

In leveling, station is a point where :

(a) Staff is  placed

(b) Instrument is set-up

(c) Both (a) and (b)

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)
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                                   OR

4

3.

OR

Describe two methods of setting a right angle with

a tape at a point on the chain line.

points on a sloping  ground is 310 m. The angle of
0

slope is 15. Find the correction for slope and  the

horizontal distance.

NT3004
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Parallax may be eliminated by:

(a) Focussing the eye-piece.

(b) Focussing the objective

(c) Both  (a) and (b)

(d) None of these

Which is called  scale plate in the theodolite?

(a) Vernier plate

(b) Upper plate

(c) Lower plate

(d) None of these

(xv)

(xv)

(xvi)

(xiv)

NT3004121611303

Answer all Five Questions. 

2.

4 x 5 = 20

Enumerate four types of tapes. 

Describe any one tape. 4                     

(xx)

NT3004
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The theodolite is used for measuring:

(a) Horizontal angle

(b) Vertical angle

(c) Both (a) and (b)

(d) None of these

The Simpson's rule is applicable only if the

number of ordinates is:

(a) Odd

(b) Even

(c) Zero

(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)
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Correction for slope is always:

(a) Positive

(b) Negative

(c)  Zero

(d) None of these

The angle between two plane mirrors of an 

optical square is :
0

(a) 45
0

(b) 30
0

(c) 60
0

(d) 90

(xviii)

(xix)

(xx)

(xix)

NT3004
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Describe any one method with neat sketch.

OR

***

NT3004 211611303

Describe any one method with neat sketch.

OR

***
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